BEERRERZORENRARAFHEICONT
(1) REHFH R 02 FHBEOEB (BKRMLBARBOEE)

T3 0E3AXRERE

E B g | TNe | eea | TH2BEE | THOFE | FHO0ERE | FHIIEE | FRIVEE
E = 2,210 1,896 1, 946 1,889
A R 174 188 174 174
CO2#FHZE (t-C02) | = & 354 136 138 160
& &t 2,738 2,220 2,258 2,223
ﬁ%ﬁ;’fmﬁéﬁtb _ _ 38 3
FEFRERE 2 1= Y DC02Hk & (£-C02/m) 0.06329 0. 04664 0.04744 0. 04671
xtEAEFE L (%) 100 101.72 100. 15
(ERFKEES-Y OB 0 1.72 0.15
HIEB R (%) A 1.00 A 2.00
T —— E7Ki1ﬁ 42,128 46, 4217 46, 4217 46, 4217
= A H i 1,131 1,167 1,167 1,167

(2) IRVF—EREQOHE (BKEMESEAMDOEE)

B B |wpgE| TRNE | oaes | FHSERE | FROFE | FRIOEE | FHIIEE | FRI2EE

5 £ kW h 3,982, 246| 3,275,324| 3,361,421| 3,262, 695
(tEEFEEL) % — - 2.63 A 0.39
L P H R m 27,948 28,539 26, 383 26, 311
(tEEFEEL) % - - A 7.55 A 7.81
g ;A Q 130, 481 50, 158 51,086 59, 162
(tEEEELL) % — — 1.85 17.95
e e _ £ G023kt (£-002)
BENRAAFHEDHD —— WEAEERE L (%)
(t-C02) 2,138 160
2,700
- 140
2,600 | 120
100% 101.72% 100.15%
2,500 ~— - ; - 100
2, 400 -
2,300 2,220 2,223 - 60
2,200 | 10
2,100 - 20
2,000 0

ERI9EE ER2TEE ERi28EE ER29EE ERS0EE ERSTEE ERS2EE
(IBEE ) (FEESF)

[ $% ] EENRAAFHBORES (RIEE BENRHABEBBEEHES A FI4 V& Y)
mE %

€02 HrHiE (t-C02) BEXEAE (kWh) x  BeHf&RE (£-002/kWh)
EXRMHEHAE (kWh) x  0.000579 (t-C02/kWh)

KERDOBERBIHNA FSA VBT IRIEEOREELT S,

mHR (LPG)
002 #iE (t-C02) LPHRERE (t) x #HHFE$H (t-002/t)
LPAHREHRAE (t) x 3.00 (t-002/t)
LPAHREHRAE (M) x 0.0066 (t-C02/m)

KLPHROERZE). 458 (m.kg) =&Y, mITBE

BER (AEHMH)
€02 #EHE (t-C02) AFTHERE kO x  HEHEH (t-0C02/kQ)

AEHERAE (kO x  2.71(t-C02/kQ)
AEHFERAE () x 0.00271(t-C02/2)

G FEEFLYBRRUVATROHFHERORE L £



